[ Efficiency vs vertpos |

~0.05
9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005E

o J..\.G -
S
@ B
N:3

0.954

102 107 1

10 0?
TP vertr (cr%)

—=— DQM_mkFit_TT_retrain-lowpt

Efficiend —— pQm_mkFit_TTold-lowpt

~ 0.05
9.045F-

o
=>0.04F
2 o

%) N N N N N
D.035F -+ wbererfdieeea peseedee P
1=} N N N N
£0.03--- AN A AR Freseeedeeeeee e
B : : : :
0.025F++-+5-t-
0.02F 5o f Al
0.015F -+t |4
0.01F -+~ {
0.005F 114

o sofeddl
T F {
D: 11:_ """" :'"'

R 111121 ¢

093526 -10 0 10 20 30

TP vert z (cm)

N 0.02r

.......... PP P G . Y 1 () 0 D G S

20-15-10 .5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


